D AMIHE
60 HUBLRUSAS T8 (F7E L)

ok | o BTl -
X455 TH% 22.5KW |[22.5~37.5]37.5~75.0 150.0 150. OKW
FRER [ AR A KW KW KW oLE
S40 ENES 24, 807 11, 495 6, 649 4, 878 1, 788 -
AR 560 313 125 85 37 -
45 ENES 24, 546 8, 125 6, 704 6, 349 2,387 981
AR 551 255 139 113 44 -
50 ENES 24, 329 6, 900 5,579 7,035 3, 099 1,716
AR 537 217 128 130 35 27
T 55 ENES 22,241 4, 349 5, 055 7,273 3, 444 2,110
AR 516 134 118 184 46 34
60 ENES 18, 834 2,900 4, 403 6, 645 3, 086 1, 800
AR 461 92 107 168 61 33
H2 ENES 16, 811 2,106 3, 791 6, 203 2,853 1,853
AR 412 90 81 157 51 33
7 ENES 14, 565 1, 394 3,317 5, 472 2,596 1, 786
2 AR 365 66 75 131 54 39
12 ENES 11, 692 1,137 2,635 4, 406 1,991 1,523
AR 294 41 69 105 41 38
17 ENES 9,011 899 1,919 3,371 1, 552 1,270
AR 240 24 56 99 31 30
¥ 22 ENES 6, 569 784 1,333 2,165 1,196 1,001
AR 184 26 38 61 29 30
24 ENES 5, 927 716 1,195 1, 891 1,082 1,043
AR 158 26 29 51 26 26
25 ENES 5, 690 716 1, 140 1, 759 1,039 1,036
AR 156 27 29 48 25 27
26 ENES 5, 468 692 1,079 1, 684 990 1,023
AR 136 292 21 44 23 26
27 ENES 5, 205 635 1,033 1,571 959 1,007
A IH 130 22 19 42 20 27
S40 ENES 100 16 27 20 7 =
NI 100 56 292 15 7 -
45 ENES 100 33 27 26 10 4
AR 100 46 25 21 8 -
50 ENES 100 28 23 29 13 7
AR 100 40 24 24 7 5
Kk 55 ENES 100 20 23 33 15 9
AR 100 26 23 36 9 6
60 ENES 100 15 23 36 16 10
AR 100 20 23 37 13 7
H2 ENES 100 13 23 37 17 10
AR 100 22 20 38 12 8
7 ENES 100 10 23 38 18 12
59 AR 100 18 20 36 15 11
12 ENES 100 10 23 38 17 13
AR 100 18 25 35 12 11
17 ENES 100 10 21 37 17 14
AR 100 10 23 41 13 13
e 22 ENES 100 12 20 33 18 17
AR 100 14 21 33 16 16
24 ENES 100 12 20 32 18 18
AR 100 16 18 32 16 16
25 ENES 100 13 20 31 18 18
AR 100 17 18 31 16 17
26 ENES 100 13 20 31 18 19
AR 100 16 15 32 17 19
27 ENES 100 12 20 30 18 19
ENIA 100 17 15 32 15 21
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61  BUHLRIAM N L T8 &% O TR S
X v Sb5 60 H2 7 12 17 22 23 24 25 26 27
Y E1g 516 461 412 365 294 240 184 184 158 156 136 130
@
7. bkwA i 12 2 6 4 5 0 0 1 0 1 0 0
T 7.5~22.5 122 90 84 62 36 24 26 28 26 26 22 22
)
22.5~37.5 118 107 81 75 69 56 38 34 29 29 21 19
b 37.5~75.0 184 168 157 131 105 99 61 57 51 48 44 42
T
75.0~150.0 46 61 51 54 41 31 29 27 26 25 23 20
& 150. 0~300. 0 21 23 24 21 19 18 21 20 18 17 18 19
%5
300. Okwll | 13 10 9 18 19 12 9 9 8 10 8 8
HidE 43 43 49 30 16 11 15 15 16 15 14 15
F v 7T
I 66 43 27 31 33 19 16 16 13 15 13 14
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62 TTETATRIAM N T T35k

FOE & T % N

(i@ﬁf@;zm w wopg | kW [ 7.5~ 225~ 375~ [75.0~ [150. 0~[300. Okw i@% 7;{%
A | 22.5 | 37.5 | 75.0 | 150.0 [ 300.0 | DAL

SRR 254 171 156 1 27 30 49 24 16 9 15 15

R 2647 150 136 0 22 21 44 23 18 8 14 13

SRR 2T AR 145 130 0 22 19 42 20 19 8 15 14

(B ) 20 18 0 2 2 9 4 0 1 2 0

JE R 11 11 0 1 1 4 4 0 1 0 0

ERA 6 5 0 1 1 3 0 0 0 1 0

W & BREF T 3 2 0 0 0 2 0 0 0 1 0

=B 0 0 0 0 0 0 0 0 0 0 0

+ & 0 0 0 0 0 0 0 0 0 0 0

V) 18 17 0 2 5 4 2 2 2 1 1

B i 3 3 0 1 0 0 0 1 1 0 0

fefE i 5 5 0 0 3 1 1 0 0 0 0

ERSeE 1 1 0 0 1 0 0 0 0 0 0

R 9 8 0 1 1 3 1 1 1 1 1

V) 33 30 0 3 5 10 5 6 1 3 2

Rl AAR T 3 2 0 0 0 1 1 0 0 1 0

HizK T 10 9 0 0 2 4 3 0 0 1 0

BEEE) [N T 13 13 0 0 2 4 0 6 1 0 2

SO FHT 6 5 0 3 1 0 1 0 0 1 0

R T 1 1 0 0 0 1 0 0 0 0 0

B - 5HE) 21 19 0 6 1 3 4 4 1 2 3

FEheh 10 9 0 3 1 2 2 0 1 1 1

Pkt 7 6 0 1 0 1 1 3 0 1 1

Iy Bt 2 2 0 2 0 0 0 0 0 0 0

1B/ T 2 2 0 0 0 0 1 1 0 0 1

(£ 42 39 0 9 6 12 4 5 3 3 8

=) 13 12 0 3 1 6 1 1 0 1 1

KT 0 0 0 0 0 0 0 0 0 0 0

BT 12 12 0 3 3 1 2 3 0 0 2

AT 3 2 0 0 1 1 0 0 0 1 0

KIGFET 3 3 0 1 0 1 0 1 0 0 0

A LT 2 2 0 1 0 0 0 0 1 0 1

SRyCmy 1 0 0 0 0 0 0 0 0 1 0

e R BT 2 2 0 0 1 1 0 0 0 0 0

JIFA Iy 6 6 0 1 0 2 1 0 2 0 4
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62 MHETARBIAMIM T LSS (o)

G & T 4

(HOSRILR - 5T) | 8 75 T 75~ [22. 5~ [37. 5~ [ 75. 0~ [150. 0~[300. 0kw
UIRERES a i | 22,5 | 37.5 | 75.0 | 150.0 | 300.0 | YL I

(Fe %) 7 5 0 0 0 3 1 1 0
[P 355 3 2 0 0 0 1 1 0 0
HRE-IT 1 1 0 0 0 0 0 1 0

R -MT 1 0 0 0 0 0 0 0 0

B EHT 2 2 0 0 0 2 0 0 0

(K &) 4 2 0 0 0 1 0 1 0
T 0 0 0 0 0 0 0 0 0

KFnkS 1 0 0 0 0 0 0 0 0

FRFS 2 1 0 0 0 0 0 1 0

W N ET 0 0 0 0 0 0 0 0 0
HEARET 0 0 0 0 0 0 0 0 0

BT 0 0 0 0 0 0 0 0 0

[ =1) 0 0 0 0 0 0 0 0 0
RYEmT 1 1 0 0 0 1 0 0 0

LT 0 0 0 0 0 0 0 0 0

AIMEN 0 0 0 0 0 0 0 0 0

yiEA ) 0 0 0 0 0 0 0 0 0

556 0 0 0 0 0 0 0 0 0

(EE BT LSRR
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63 HIIXHI T4 - FAHE &

37. SkwAit 37. 5~T75kw 75. 0~150kw 150kwlA _F
N T H Ji T H J T H Ji T H Ji
S 5 A PN A PN
% 77 ¥ % Vi H % Vi H % Vi) T
y 7 y 2 y 7 y 7
Bl % B | B % g | & % B | B % B
IR 4 83 592 9 434 5, 218 4| 426] 10,659 X X
P e 7 190 537 4 182] 1,839 2 194| 4,707 1,960| 37,814
bk gl 201] 1,578 10| 509 5,125 5|  491| 4,859 1,562| 33,420
G E - Gk 7 122 5,569 3 174 6,254 4 453 3,932 1,198| 46,567
PN ] 15 296] 2,557 12| 555 5,096 4] 383 14,077 2,380 70,704
HEE 0 0 0 3 157 1,596 X X X X X
N 0 0 0 X X X X X X X X
T35k peEEE | i (kw) | EoAEE & (Tm®)
130 636 12, 740 265

(&8 B2 L EMRIGR
(JE)  XIHEASITIEANE OO HKRIZEE T o 2 RS o720, MiHEZ AR L2V H O,
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R % ¥t
(FH5)
T 4 adt 100m Al 300m° 1,553(;13
R 254 BT 233 85 23 29
R 264 T 231 79 29 26
SRR 2T BT 231 106 14 13
(BEV ) 27 15 2 -
R & 22 14 2 -
H & i 2 1 - -
W & HIREF T 3 - - -
XY - - - -
+BAT - - - -
() 20 13 1 -
B i 4 4 - -
fafE 7 6 - -
S OFEh 2 - 1 -
A JUN T 7 3 - -
b w8 45 20 2 5
BT A AR T 5 4 - -
K 7 3 - -
BERE )9 T 12 3 1 2
SO FHNT 16 8 1 1
R R 5 2 - 2
(m R - gHe) 36 15 3 1
EA=n 18 8 2 1
P 7 1 1 -
I B ih 2 - - -
157K HT 9 6 - -
(G ) 64 21 4 3
JiB 14 2 - -
Kt 11 10 - 1
A 13 4 1 1
BN 11 2 1 1
PNl 1 1 - -
B BT - - - -
SRITRT 7 1 2 -
EEENEL) 4 1 - -
JF AT 3 - - -
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1,000~ 2, 000~ 3, 000~ 5, 000~ 10, 000m®
2,000m” 3,000m” 5,000m” 10, 000m® Pk

29 11 24 18 14
28 16 25 16 12
25 16 15 24 18
2 2 1 5 -
1 2 1 2 -
1 _ _ _ _
_ _ _ 3 _
3 1 - - 2
1 _ _ _ _
1 _ _ _ _
1 1 - - 2
3 3 5 4 3
_ 1 _ _ _
- 1 1 1 1
1 1 3 - 1
2 - 1 2 1
_ _ _ 1 _
3 1 2 7 4
3 - - 3 1
- 1 1 2 1
- - - 1 1
- - 1 1 1
9 5 6 7 9
3 2 3 3 1
1 1 1 1 3
3 1 - - 3
1 - 1 1 1
1 1 1 - -
- - - 2 1
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